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relative CIELAB ( a*, , b*,) diagram b =lab*b
olv3dMpy =1.0 1.0 0.0
olv3Spy =1.0 1.0 0.0
olv3Fpy =1.0 1.0 0.0
tchFpy =0.5 1.0 0.286
Angley =102.8 102.8 0.0

olv3Mp,_ =0.0 1.0 0.0
olv3Sp. =0.0 1.0 0.0
olv3Fp_ =0.0 1.0 0.0
tchFp. =0.5 1.0 0.378
Angle. =136.0 136.0 1.
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System TLS00

olv3Mpp = 1.0 0.0 0.0
olv3Spp =1.0 0.0 0.0
olv3Fpp =1.0 0.0 0.0
tchFpo =0.5 1.0 0.111
Anglep =40.0 40.0 1.0

a*, = lab*a

olv3Mpc =0.0 1.0 1.0
olv3Spc =0.0 1.0 1.0
olv3Fpc =0.0 1.0 1.0

-

olv3Mpy =1.0 0.0 1.0
olv3Spy =1.0 0.0 1.0
olv3Fpy =1.0 0.0 1.0

relative CIELAB ( a*, , b*,) diagram b* = lab*b
olv3Mpy =0.8 1.0 0.0
olv3Spy =0.84 1.0 0.2
olv3Fpy =0.84 1.0 0.2
tchFpy =0.6 0.8 0.304
Angley =102.8 109.5 0.2

olv3Mp_ =0.0 1.0 0.2
olv3Sp. =0.2 1.0 0.36
olv3Fp_. =0.2 1.0 0.36
tchFp. =0.6 0.8 0.411
Angle, =136.0 148.1 0.
-1.

System TLS00

olv3Mpp =1.0 0.2 0.0
olv3Spp =1.0 0.36 0.2
olv3Fpp =1.0 0.36 0.2
tchFpp = 0.6 0.8 0.146
Angleg =40.0 52.6 0.2

a* = lab*a

olv3Mpc =0.0 0.8 1.0
olv3Spe = 0.2 0.84 1.0
olv3Fpc = 0.2 0.84 1.0 o

® _lolv3Mpy =1.0 0.0 0.8
olv3Spy = 1.0 0.2 0.84
olv3Fpy = 1.0 0.2 0.84
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olv3Mpy =0.8 1.0 0.0
olv3Spy =0.8 1.0 0.0
olv3Fpy =0.8 1.0 0.0
tchFpy =0.5 1.0 0.304
Angley =102.8 109.5 0.2

olv3Mp, =0.0 1.0 0.2
olv3Sp. =0.0 1.0 0.2
olv3Fp,. =0.0 1.0 0.2
tchFp. =0.5 1.0 0.411
Angle, =136.0 148.1 0.
-1.

olv3Mpp =1.0 0.2 0.0
olv3Spp =1.0 0.2 0.0
olv3Fppo =1.0 0.2 0.0
tchFpp = 0.5 1.0 0.146
Anglep = 40.0 52.6 0.2

a* = lab*a

olv3Mpc =0.0 0.8 1.0
olv3Spc =0.0 0.8 1.0
olv3Fpc =0.0 0.8 1.0
tchFpc =0.5 1.0 0.607
Anglec =196.4 218.4 0.2

olv3Mpy =1.0 0.0 0.8
olv3Spy =1.0 0.0 0.8
olv3Fpy =1.0 0.0 0.8
tchFpy =0.5 1.0 0.952
Angleyy =328.2 342.6 0.2

olv3Mpy =0.2 0.0 1.0
olv3Spy =0.2 0.0 1.0
olv3Fpy =0.2 0.0 1.0
tchFpy =0.5 1.0 0.863
Angley =306.3 310.7 0.2

olv3Mpy = 0.8 1.0 0.0
olv3Spy =0.84 1.0 0.2

olv3Fpy =0.588 0.7 0.14
tchFpy = 0.42 0.56 0.304
Angley =102.8 109.5 0.2

olv3Mp, =0.0 1.0 0.2
olv3Sp. =0.2 1.0 0.36
olv3Fp, =0.14 0.7 0.252
tchFp, =0.42 0.56 0.41
Angle, =136.0 148.1 0.
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tchFpe = 0.5 1.0 0.545 09 tchFpy =05 1.0 0.912 tchFpc = 0.6 0.8 0.607 05 ° tchFpy =0.6 0.8 0.952
Anglec =196.4 196.4 0.0 Angley =328.2 3282 1.0 | | Anglec =196.4 218.4 0.2 Angley =328.2 342.6 0.2
olv3Mpy =0.0 0.0 1.0 olv3Mpy =0.2 0.0 1.0
10 olv3Spy =0.0 0.0 1.0 10 olv3Spy =0.36 0.2 1.0
olv3Fpy =0.0 0.0 1.0 olv3Fpy =0.36 0.2 1.0
tchFpy = 0.5 1.0 0.851 tchFpy = 0.6 0.8 0.863
Angley =306.3 306.3 1.0 Angley =306.3 310.7 0.2
XE970-3, Relative CIELAB data of six standard television colours for six hue angledabratiw3(M/S/F), LAB*H XE971-3, Relative CIELAB data of six standard television colours for six shifted hue angletatDate3(M/S/F), LAB*H
relative CIELAB (a*;, b*) diagram b*r=lab*b System TLS00 relative CIELAB (a*,, b*) diagram b =lab*b System TLS00

olv3Mpg = 1.0 0.2 0.0
olv3Spo = 1.0 0.36 0.2
olv3Fpo = 0.7 0.252 0.14
tchFpo =0.42 0.56 0.146
Angleg = 40.0 52.6 0.2

a* = lab*a

olv3Mpc =0.0 0.8 1.0
olv3Spc =0.2 0.84 1.0
olv3Fpc =0.14 0.588 0.7
tchFpc = 0.42 0.56 0.607
Anglec =196.4 218.4 0.2

olv3Mpy =1.0 0.0 0.8
olv3Spy =1.0 0.2 0.84
olv3Fpy =0.7 0.14 0.588
tchFpy =0.42 0.56 0.952
Angley =328.2 342.6 0.2

olv3Mpy =0.2 0.0 1.0
olv3Spy =0.36 0.2 1.0
olv3Fpy =0.252 0.14 0.7

XE970-7, Relative CIELAB data of six standard television colours for six shifted hue angletDake3(M/S/F), LAB*H
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BAM-test chart no. XE97; 6 hue angles and colour shift
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tchFpy =0.42 0.56 0.863 >
Angley =306.3 310.7 0.2 L]
XE971-7, Relative CIELAB data of six standard television colours for six shifted hue angleiiDate3(M/S/F), LAB*H
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Relative CIELAB data and colours M, S, F in the system TL&8@®ut: no change compared to in
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